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TThe_% _1arks_all the reus h ihh P=>%2 and 47 are
bath_trwe. (P> 1) 3 e in a//_ﬁ‘ the % 1m0S,
So_the _entathment  holds - AED.
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AsSlume _Hhed- the _emadiment- cbes__not-_hold

Thete & A neth Ua[ccaf:rc?ni; Such__that-
(P2=T, (8>5P =T  and <P—>r> =W~

H (P> =F, hen ot hos o be that P'=T and v =F

H (p>aY=T and P=T, Hhen 9t=T 0 Ths x a
W (3o =T ad 12=F, Hen =T J arirzdietion,

— Our asumption_B_Afake__and__the enallment_holds

QED
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_Shag that )

fUp> =DV, (3Ar), (P FE(PA(L=TY)

Poof - Consider a_4nth valuatan 1 Such that-

Pt=F =T gnd vt=F

(P (VT = (> FOVE) =FT

(AN = (TATD =T

(PNt = (FeP)=T

(PA(2=D)= (EA(T=FD=F

The_premdses._dre._ thie. but- the condlusion s talse,

S0_the _emmibment does Not-_hold .
QAED




